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Sem - V/Civil.
Est. & Cost.

Time ; 4Hrs.

Full Marks : 70
Pass Marks : 28
Answer all 20 guestions from Group A, each question
carries 1 marks.
Fu-A W wft 20 wel & wax <, HAS wed &1 0 T b
Answer all Five questions from Group B. each question

carries 4 mearks.

7u-B & wfl uiw gl & v 2, 94T 9 &1 W 4 AT |

Answer all Five questions from Group C, each question
carries & marks.

xo—C @ Wi uia uel & IR <, WS 0 3T T (T |

AH parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated
U ¥ @ | I ST IR ¢F B e (TR FH A)
g TRy, seerm 3 Wi € o wew €

The figure in rvight hand margin indicate marks.

¢ upd @ & il & gae & |
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GROUP- A
1. Choose the most suitable answer from the following
options : 1x20=20

waifers wuywa ey = gawr g -

(1) What are the main points to be considered
while preparing detail estimate:
(a) Availability of materials
(b) Quality of materials
(c) Carriage facilities
(dy All of above

M R Yidbdd TR &3 @ (63 fee
—f71 gea fagal & wae ¥ w@
qifay |
(a1) wm=firal 3 Sy
(@) wmfray @) quE
(#) geng &1 g
(?) o & w+hi

(i} In wooden works, the measurements of
chaukhat is in cubic meter, then the
measurement of shutter is in:

(a) Square meter
(b) Meter

(c) Cubic meter
(d) None of these
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dasl & el 4 dlEce & 4 9Yfds
ANer # gl & Ot exa @ 2ex &)
HI e gl |

(1) eyfad Nex d
(@) & 9 @1 Al

The payment rate of AC sheet roofs is done
Mo

(a) Per unit length

(b) Square meter

(¢) Cubic meter

(d) Per 1000 kg

¢l e 9 sdl & Pras ) @
..................... gl

@) ufa gag o

(@) a9 Hex

(|) a1 diex

(g) ulr 1000 kg

The thickness of layer while filling a pit with
earth should be generally .......

(a) 10 to 20 cm

(b) 20 to 50 cm

{c)30to 75 cm

(d) 80 to 100 cm
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18 A HaI ¥NIg & WY Y- YdS
owd B Wers g+t =rfav |
@) 10 F 20 Wifle
(@) 20 ¥ 50 9o

(@) so q 75 Vo
(%) 80 ¥ 100 ¥Hlo

Asper 1.S. 1200 the correct measurement
should be taken up to

() 0.0l m

{(b) 0.01 em

(c) 0.0l mm

{(d) 0.1 mm

15,1200 ® FTER A7 ............. q& |8l
ardY S =R |

(@) 0.0l m

@) 0.01 cm

(=) 0.01 mm

() 0.1 mm

In rate analysis, the contractor's profit should
be considered as ...........

(a) 10%

(b) 5%

(c) 3%

{(d) 1.5%
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=X favawer & wWa 3BIR &1 A
............. HHET 9T Wedl & |

{a1) 10%

(7)) 5%

{(*) 3%

() 1.5%

The capacity of 8 ton truck for carrying
number of bricks is .........

(a) 3000

by 2500

{c) 2000

(d) 1800

Generally one bag of cement in India weights
(a) 30 kg
(b) 50 kg
{c)40 kg
(d) 60 kg
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(ix)

(ixh

(%)
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AT IRd ® P 9N AT a1
qoi+ sldrl & |

(3[) 30 kg

(@) s0kg

(|) 40kg

(=) s0kg

The cover for steel bars in R.C.C. beam is
{a) 25 mm

{b) Twice the diameter of the main bar

{c) Which ever 1s greafer in 'a' and 'b’

(d) None of these

yafera Wide sFe e § wa vt
@ fog gred amaver glar -

{(31) 25mm

(@) T=0 ¥s & & B <A

(@) ‘@ 3t T A/ =i wwET §

(%) 379 9@ @iz

The additional length of one hook in the
steel reinforcement to bars 18 ...
Where d = diameter of bar

{(ay4.5d

(by o d

{eyl12d

(dy18d
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SWId Yydeld Bel 4 Ua Hie & fay
aifaRaa awarg grdY 21 (Vigl d= v
T ATH)

(1) 4.5 d

@) 9 d
() 12d
() 18d

The expected out turn of cement concrete
(1:2:4) per mason per day 1s

(a)2.0m’

(b) 2.5 m’

(c)35m

(d) 5.0 m’

Hie sdle (1: 2 : 4) & fov ufew
yfafes &1 "wfaa & &ar 2—

(31) 2.0 geHlex

(@) 2.50 g-Hrex

(W) 3.50 ©-T¥HICcY

() 5.0 aHIex

The carpet area of the butlding excludes the
following :

(a) Verandah

(b) Store

(c) Garagc

(d) All of the above
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sde aawa F=fafag vl dawq
&1 BlsHY &Idl & :

(31) axTE<T

(€) verR

(@) W

(c) suyad &

The volume of cement required to prepare
10m’ of 1: 2 : 4 concrete is

(a) 2.0 m’

(hy2.3 m

(¢c)2.2 m

(d) 2.4 m

10 gleY 1 : 2 : 4 BBHIC TAR B
& forv ¥e & fhad amaaa )
ATATYHAT Bicll & 2

(31) 2.0 w=Iex

(@) 2.3 gl

(%) 2.2 gfex

(2) 2.4 gfiex

Actual size of modular brick 1s
(ay IScm = [0cm x 9cm

(bY 19 ¢m x 9 em x 9 em
{(c)20ecm x 10em x 9 ¢cm

{d) None of these
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HiSYelR §¢ &1 ardfdd bR gldar 2—
(@) 15em % 10em x 9cm
(@) 19¢m x 9em x 9cem
(&) 20 cm x [0em x 9 em

(&) 31 9 Hig W T

The amount of lime required for one coating
of white washing of 100 m’ plaster is-

(a) 10 kg

(b) 15 kg

()20 kg

(d) 25 kg

100 @¥Hley WX #) T3 WdE W
B &1 U oy s & fay fdad
g P TaTgHAr aidl & ?

(1) 10 f&T.

(/) 15 fH.am.

(@) 20 fHuT.

(g) 25 fHam

The payment unit for the steel in grill work
Is in

(a) Volume

(b) Weight

(¢} Both 'a' & 'b’

{d) None of above

P.T.O
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(xvin)

(xviit)
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et &ord & fad el @1 WadE &
gHIY @

(31) 3maa+

(§) aoi-

(@) <4t 3 sk q

(7) SR 7 4 I 7N

The reinforcements bars should be tied with
______________ SNG (binding wire) annecaled with
gauge of

{(a) 20

(b) 16

(c) 25

(dy 12

YqAT Bl Bl oo T argrEifa
SHTd P dig+ arefl a9 dieET 91fev |
(31) 20

(4) 16
(1) 25
(g) 12

Provision for sanitary work in percentage on
b I g

detatled estimated cost 1s ¢

(a) 35%

{(b) 25%

(c) 15%

(d) 10%
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(xvit) faeqd urae & wrefera R & ..

(x1x)

{(x1%)

(Xx)

gfererd &1 urasrE Al orf @ fay
Bl 2
(31) 35%
@) 25%
(|) 15%
() 10%

The approximate cost of the complete labour
as percentage of total cost of building 1s ...
(a) 5%

[h] 1 (0%

(c) 25%

(d) 40%

foed) was1 & o 9 fa aoqx @d
bl ANTd & ATHT ... BT 2 |
(31 5%
@) 10%
(\) 25%
(&) 40%

Provision of contigency in small project
work is ...

(a) 10%

(b) 8%

(c) 5%

(d) 3%

P.T.O
https://www .sbtediploma.com

wod ewodipaiqs mmm//sdiy

wod ewo(dipaiqs mma/sdny

https://www.sbtediploma.com

1615503 12 NT5018
() g dlolae &1 A sfed=ll &1 yraamE
fear Smar 21
(31) 10%
(@) 8%
() 3%
{E) 3%
GROUPB
Answer all Five Questions.
4x5=20

afl ufg gl & Qv 9 |
2. What is the aim of estimating in civil engineering

works?
4

aifre Afrg=vr sl § YTEdaaT &1 da1
gey 27
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What 1s plinth arca cstimate ? Explain.
o2l e uradq 1 2 ? e & |

How is Absitract sheet different from measurement

sheet 7 Draw the format of both.

i e 3ty arfl fie & Far sjax & ?
Sl @ BRAT BT ARG WA |

OR (3121471)

Write the purpose of rate analysis.
X fagayvr &1 IRy fad |

DifTerentiate between carpet arca and plinth area ?
4
®RUC d@A%hd AR Hldad &1 @q%d J
Ja¥ qand ?
P.T.O
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What do you mean by lead & lift in earth work ?

Explain.
&1 ¥ offs vd fodwe 9§ My Far w9 B

AT B |

What are two methods of building estimate ?

Explain one of them,

Waq Yl @ ol faferat gar & ? 399 4
Udh &) Gl Y |

OR(312141)

What provisions are made for sanitation works,

water supply and clectrification works.

df e ord, Sra-amgfd ¢q faga od @
30 wa=1 W @1 grauE ey o g ?

Draw a cross sectional view of a Ratlway

embankment showing all details. 4
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Veld dc 919 BT Wvs g¥ &1 fad 914
foras wft fageer f feward | fafr= yoR @ reas @1 € ? 3 9
foodY v &1 wlawr aufs &3 |
OR (372141)

OR(31274dT1)
What are the main points to be considered in

estimating work of a residential building ?

What are the borrow pits. Explain with sketches.

U@ AU a H YTHAT d¥A § BIa—di

A g fasgat @1 e ved @ ? aRfe @ € ? AR & | quie e |

8. Analyze the rate for first class brick work in cement
mortar {1 : 4) in foundation. Assume suitable rates.
6
e & gyog gofl de Fard ard dide el
(1 : 4) & fag < fawdwor & | wgfaa =
T+ o |

GROUP -C

wod rwodipaigs mmm/ssdny
wod swopdipaigs mmm/ssdny

Answer all Five Questions.

. ) _ 6x5=30
ol 9fg g @ IR Q| OR (31erar)
Assume missing data suitably.
Ef\e 7Y L ‘Hﬂfﬁﬁ o o | Analyze the rate of R.C.C. (1 : 2 : 4) in foundation.

Assume suitable rates.

7.  What arc the different types of estimate? Describe ffa ¥ gafera e sFe (1:2:4) &1
one of them in detail. 6 fasataor &Y | -\q—ﬂﬁﬁ{ ¥ 0 o |
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Estimate the quantity of carth work m a tabular
form for a portion of a road from the following data
Formation width of road = 9.0 m ;

Side slope = I--_I,--'.l (H:V)mbankingand I : |

in cutting. The distance between station i1s 50 m.

Station| 0 1 2 3 4 5 6 7

4

g‘ltor 102.35: 101.80 | 102.05 | 102.50 | 103.15 | 103.45 | 103.00 |103.85

R.L. of formation of (o) station = 103.50 uniform

up gradient 1 in 200
' 6

frr=ifaflaa snes & aIffuR & vso &
e & D &rd &1 utaers Rl § @ |
wed &l Ffor gtere =9.0m:

f=IRT @rel |01 (H:V) oRa & gd 1 - 1
&1 T Herd A,

werHl & 4" B Gl =350 m

Station] 0 1 2 3 4 5 6 T

g-t"f 10235 10180 | 10205 | 10250 | 103.15 | 1034510300 10385

ferfor aer &1 wara der (0) €yE &
103.50; HUY TTel A eX | 200 ¥ 1

P.T.O
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Calculate the quantity of earth for a portion of road

on a uniform ground with the following data by any

two methods.

Assume that there i1s no longitudinal slope.

Length of road = 200 m ; height of bank at one

end = 2 m, height of bank at otherend =3 m ;

Formation width = 10 m, side slope mn filling 2 : |

(H:V)

Fret sfresl & AUR (& Uedh & A &l
Y &rd &1 < R_fYAT 4 dresdas &) w4
&1 ad Frafia 2) sRed era i 2, 49
o |

Us$ B! T — 200 m,

UF BIX WX 919 & 418 =2 m

Ud gEN BIR U 41" @1 $918 =3 m

frrator gterg = 10m

E ¥ feaRT @rd =2:1(H: V)

Estimate the earth work i excavation n foundation

trench of given building in fig - 01
6
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Earthwork : Fonodatina treaches shoould be dup wpto the deoth as shown in deswine.

== =
.00 800
L 0
L0.30 .00
W Boom - /-l— Foam W
oy S
-
. T
0se] o | i o |
Plan {a)

D - [y =120 =2 10
Windaws | W =1.00 = 1.50
Shafvos S 100 = 1 R0

:7.5 o Lime Concnete

2.5 om Gement Gone.

1:2.4
o ooy
T WP P A ﬁ'_'?'. |
L Q.60 00, A
p20 N
050 0.10 Sﬂl;g"::ﬂg
060 010

(Al dimengiong kn m)

Fig- 11
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R ™ fag 01 ¥ wew 7 7 gaR F AN
& BT UTdcel B |

Earthwork : Foundatisn trenches shoould be dnp opto the depth as shown io drawiog.

| - .
4,00 £.00
s o010
i
L030 §.00
w Raom - Room W
5
[ R
4
| A
as] o | | o |
Flan fa}

Doers - D=12x210

Wingows W= 1.00x 1.50 7.5 o L Concrate
Shetves @ 5= 100 x 1RO ,-.--.-.--.-.-.-g.-.-.-.-.-.-.-,ﬁ 3
sy L 15 cmpcc s
R

030 A0

L.\,“, 2.5 em Cement Cone,
e 1:2:4
28emDRC.1:2:4 10 e Cament
beans [ Gone. 11510
T PR Ay 'I J
=1} E I'
L 0.0~
020 N
D50 0.10 Saﬂg Finbeg
0.60 010 1aem
‘:[“ 0.70 _Jo0
L
Secwon of a wall |m‘u:2u__n;r°m

4 fa— (Al chmignssons in m)
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Estimate the brick work in foundation and plinth T @ 701 ¥ w99 & 9 vg T:gsﬁ H
of a given building in figure 01. v e &l &1 uTEdT e |

Eartbwork : Fouodation treoches shoould be deg npto the depth as shown o drawioe.

1615503 22 NTS018

et - Eartbwork : Fouwodativn treaches shoould be dug upto the depth as showo e drawice.
- 1 — S ———— P S
— | —
I i_ W ' -! | |
L 11 1 T LR L i | |
11l i |l 2 g0 e 800 ~— —
" 1
=
010 ! f
e 1 |
1
Il | ! —[ i I FT
! L0430 .00 | i
! Y S .y Pe— i vl 5.00 1
Ji =1 l. ! Fioom Room '.n.l.i If
' <4 1
4| 014 |8 i | .

Ly Y |
0s0] o |

| e N el R se—

—'I.arm-—
i

| i

Flar {a)

Dgwars 0w 120 =210 - \ C . Plan {a)
o | - Fo3 G Lime LApnerete % 0w 190 =240
I:tfern‘ll.ﬁ ’ W . 1- |.'l‘:-':’_:lj-wc 11 :",I:I:l ?::1‘(.10\-\." oWt CIEIJ_l: 1 iL‘l 7.5 om Lime Concrate
Shebes: S=100% 1.5 [ Shalvas:  S=100x 150 F AR
ol Je 1 L Foamara e OOO00 .'.'.'.'."{,
4 | -15 om RLC.C. Blab
Q.10

“'44 | I—lScm HTC S5
0.10 |
- UEC‘I" 420

| I
2.5 cm Ceament Cons i
a\:—i 1 — 124 2.5 om Comant Cong
I
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25emDPC.1:2:4 ] sy 1:2:4
Cament conc, T, | _ 10 eon Cement 25cm DRET 24 | 10 cm Ceoment
LAament conc . Conc. t:5:10 Cement cona "\\\ | [t I:C. - ¥

SOHC. I
’ - T ]".".':'.* o AP
RSARA u....h.i s,
/ . 060 |-0.40- .
\ Gl T i ) I
o - i 0.20
Sand Fiing 3 -
i - —_— 10em - (.50 = 0,10 Sand Filling
0o 0.0 — 00— T {n.i0 10 em
‘I' [—— o070 —]_ _fot0 -

T —

birne Conerete

Section of a wal p T B Lima Concrate
i) N . 1 F 20
i (AN dimensions in m} i) .
Fig - 01 ¥ ¢ B ' Al dirnenssons In m)

PT.O
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11. Estimate the brick work in super structure of a

given building in figure 01. 6 fadt 1 faq o1 ¥ #aa $ Yy =T ¥ g
g &1 &1 UtEmer X |

Earthwork : Fonndatioo trenches shoould be due upto the deoth as shown in drawins

———— — E_artl:t\'ur_k : Fonodation trenches shoonld be dug npto the r.‘n_PE_nl_’EL:Eu_it_dE’EiF_g'
A i 1 — l' E" ad— 1.. - :.:_.._..'i
e () e e " [____ T [ |
| | e .00 —— . 800 = ]
| | il
. I Tl b oo
T1 | M A
[~ 4030 6,00 T J |
Room e Floom f W ! — Loso 6.00
'i‘—l | 0w Rom i Room wll
u.'.(%\ = . i t
N ! 014 5
| =h
| | 1
l o 3 p— i
* L S i

(B Y e R e—

R S f— — 030] © | | o { |
Plan {a) i - —— B
Dioes [ =120 =210 . . Pran (a
Vendows © W = 1.00 x 1.50 7.5 e Lime Concrede Doars - 0= 120 22 10 1 - )
Shehwes 5w 100 % 1.50 Whadows © W= 100x 150 .5 o Lite Concrale
B Shelves Sow 100w 1,50 WA A b
NN | - MMT-#T
Q.o f| =15 o H.C.C. Slab
.10} |
|
g L g ' |

2.5 cm Cement Cone
— 124
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| 1 |
Lnnn |
25 _— ™ J ] e
25 om 0. P‘_“' 1-2: :L 10 e Cement [ l
Cement Cone '\-\\'H“ [ Fhonc 1510 P :im ‘,'jl:‘lt_" 1 / —I\ : III.-
] - mJ:J':"_ e Semenil conc | Cong. 1:5 ;10
. r T \ | —r ey R i

Camant Cone
1:2:4

Som
'

10 2me Coamant

i e b o Bl Bl b e

Pt
PRI M My
b= 3. E b i i, e i i
T Tow \
]-v- (1,500 = - 0.0 Sand Filing 020 '\.
g ——= 1oe —t and Fillin
F_ — D80 _{ 510 g em - (60 - _O‘ 10 F:h:lg, f;lll..ﬂ
1.00 e 070—] Jo.0 - {5~ 010 &
f——— 080 — 020 ! 0,70 —]_ _ 010
il
o e 380 - —-—--i 0,50
S o E &] Joso
ey _ Lime Concréte ) : o
St""””,;'.' a wall YT o0 - 110 Lime Gancraie
iy . P Sechion of & wall P
Fie - B1 {801 IEnSionS 1 m im i
= (Al dermadsions i i)
b= -1

P.T.0

https://www .sbtediploma.com https://www.sbtediploma.com

wiod ewopdipaigs mmm//sdy
[dipa1q . y



wod ewo(dipaiqs mma/sdny

https://www.sbtediploma.com
1615503 25

OR(3Irar)

Estimate the interior plaster work in cement mortar
1 : 5 of a given building in figure O1.

Eartbwoark : Foucdatiog trecches shaould be dog apts the depth a5 shown in drawino.

NT5018

w W
oo 600
.10
/J.-ﬂ.aﬁ 6.00
w Room 1 Fipom w
0.1{|-$-
—Faﬂ-— L
[
oa0] o | 1 o
&
T D =120 w210 Plan ()
5 -, K]
Windews - W= 100« 150 F?ﬁmmw

Sheifves . S5e 100150

‘}V I—150rnFt.C,C.Slub
o0 Az
v 2.5 e Camaat Gone,
b’ 1iEis
25ecmDPC. 4 204
e ) 10 em Cement
1.00

PT.O
https://www.sbtediploma.com

wod ewodipaiqs mmm//sdiy

wod ewo(dipaiqs mma/sdny

https://www.sbtediploma.com
1615503 26

o T g 01 A waa @ AaRke WX
WA MRT 1 - § BT UTHAT B |

Earthwork : Fouodation treaches shoould be dug wpto the depth as showao io drawiog.
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